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542 482
551 482
559 484
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time (s) Vtarget (km/h) Vreal(km/h) Ne (rpm) Te (N-m)n_norm (%) T norm (%) shift

0 0 0 500.0 0.0 0 0 0
1 0 0 500.0 0.0 0 0 0
2 0 0 500.0 0.0 0 0 0
3 0 0 500.0 00 0 0 0
4 0 0 500.0 00 0 0 0
5 0 0 500.0 00 0 0 0
6 0 0 500.0 00 0 0 0
7 0 0 500.0 00 0 0 0
8 0 0 500.0 00 0 0 0
9 0 0 500.0 00 0 0 0
10 0 0 500.0 00 0 0 0
11 0 0 500.0 00 0 0 0
12 0 0 500.0 00 0 0 0
13 0 0 500.0 00 0 0 0
14 0 0 500.0 00 0 0 0
15 0 0 500.0 00 0 0 0
16 0 0 500.0 00 0 0 0
17 0 0 500.0 00 0 0 0
18 0 0 500.0 00 0 0 0
19 0 0 500.0 00 0 0 0
20 0 0 500.0 00 0 0 0
21 0 0 500.0 0.0 0 0 0
22 0 0 500.0 0.0 0 0 0
23 0 0 500.0 0.0 0 0 0
24 0 0 500.0 0.0 0 0 0
25 4.19 4.19 562.5 952.1 5 88.73 2
26 8.32 8.32 770.3 939.2 21.63 61.32 2
27 12.33 1233 11416 9134 51.33 50.64 2
28 16.05 16.05 1486.0 850.3 78.88 49.46 2
29 18.74 1874 10203 864.8 41.62 47.56 3
30 20.28 2028 11041 520.7 48.33 28.78 3

note) Vtarget : target speed
Vreal : real speed
Ne : engine speed
Te : engine torque
n_norm : normarized engine speed = (engine speed - idling engine speed)/(rated engine speed - idling engine speed)
T_norm : normarized engine torque = engine torque / maximum engine torque



